A FE012H
9

A £ 0l & AF & S

Al A

3 |TIIee n&st
Cel: 32odest (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
218 12,608,568 11,848,830 759,738
N 1,407,000
== 83,09
Al 11,118,473
ITor1gtel n&st 10,810,606 10,016,940 793,666
N 1,407,000
< 83,095
Al 9,320,511
2o des) 187,486 168,460 19,026
= 25,870
Al 161,616
2 e WS 81,320 100,400 219,080
201 Ler=23 | 22,700 29,700 A7,000
01 At2teltl 22,700 29,700 AT7,000
0 get+=SH 20,200
O = MatdHl wi 225 7
25,0003 x45+500H 5,000
O 8835 us A28 7Y
20,0002 20572 2,800
O #0pte d23 usull € =35+
200,000 *6IH 2-+32 3,600
O Z0oPle 323 U2 34l uH & =+
c 300,000 2«64 A 1,800
O d=tdedst LXEsH 22
1,000,000 574 2 5,000
O d=230ts 822 /¢
5,000 2002 *20H A 2,000
0 =238x¢ 2,500
O IIdEES & HEENF BAME
500,000& %12 500
O =235 u\ & MAH B3 us A=
500,000 42| 2,000
301 EetE2 N = 8,620 16,620 A7,000
11 #AIAHIXIE S 8,620 15,620 A7,000
U HSMEEe s HAA 2HAHS
3,500 » 102 *60H 2,100
O Z=2stdA us 44X AKX
80,000% 7 H 33 1,680
O J=2=taA 44 &N
80,000 x20H 1,600
O 323402 NEXUa(5S,28) Skt
AHIXI& 60,0002 +7EH*2H 2:x23] 1,680
O Z=Z30t= Festa A 44X AHIXIH
60,0003 x8H #2042 960
O Z=230t2 =222k 2 A
HIXI& 60,0003 *1H*53 %20 4 600




2A:

FH: |TIIE &3t
ool FEoMEst EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 50,000 50,000
05 2IMRIE =3 50,000 50,000
O A2EEstus /S US|
50,000,000& » 14 50,000
23 A} 6,900 10,500 /3,600
201 ger=3| 6,900 10,500 A3,600
01 AtR2te|H] 6,900 10,500 23,600
0 &Bt+=Sd| 5,600
O A 22 &0 M
120,000& x 109 2+22] 2,400
O Held=EEs 82 42 M
120,000 * 1094 A+ 13 1,200
O 23S A A28 7
50,0003 *105+32 1,500
O =235 A nFul 7
25,0008 25105 500
U 2g=< 1,300
O =23t dA AR
130,000 10! 1,300
230 g4s(2x) 49,266 47,560 1,706
[ 11,870
Al 37,3%
307 glztol & 49,266 47,560 1,706
S 11,870
Al 37,3%
02 2B YA E X 49,266 47,560 1,706
O Z=E30te Z2d2elx 2y
39,572,000 x 14 39,572
= 11,870
Al 27,702
[ Z=3si0ts T2 08 22kt 40 2=
ES S 9,694,000 *14] 9,694
FES0ISAYYSH(ER) 50,000 10,000 40,000
= 14,000
Al 36,000
307 elztol & 50,000 10,000 40,000
= 14,000
Al 36,000
02 2B YAIHE A 50,000 10,000 40,000
0 d2=0t= &8st X3
5,000,000 x2JH 2= 10,000
== 2,000
Al 8,000
O Z=230t= cl2Ed A
20,000,000 #20H 2 40,000




2A:

M |TIIEe N3t
ool FEoMEst EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
< 12,000
Al 28,000
SAHE elzxer NEst 1,314,144 1,181,179 132,965
L2 szt 173,000 458,000 285,000
405 KHAHH SH 173,000 458,000 285,000
01 ML ESFHSHI 173,000 458,000 285,000
0 €28 zd o 238 173,000
O E2LUH 280,000 +600CH 168,000
O ZgH 500,000 »10CH 5,000
TAAIAE D3} 1,141,144 723,179 417,965
201 LBt 554,824 198,373 356,451
01 AtR2telbl 307,313 39,740 267,573
0 «Bt=EH| 199,580
O =AEX 7Y 30,0002 *200< A 6,000
O #EARID| 228 7 9,600
S8 EH ¥ £
1,200,000 *1CH*4=] 4,800
HRIE Y W
300,000 *4CH*43] 4,800
O #Eiz =2
25,0002 105+ 128 3,000
O HIMNREES 7Y
100,000& x205+32 6,000
O S&U0IH g8 82 =% N
1,000,000 *22 2,000
O ZFE HioleiA olgeal £
30,000,000 * 14! 30,000
O S/ GAS F0H 3XHEHE(AAE=211, MIlA D]
ZHALE ) 88,000,000 * 14| 88,000
O S/W GAS 70 1XHEZ(SHE I A I ZALS
) 45,600,000 *14] 45,600
O S etold A F(AHEHl S8 & ZEY
¢E) 9,380,000& %14 9,380
O =gl 10,080
O d=20/18 g4
8,000 6H 110 5,280
O 20181 g2F0
8,000& »12&8 50 4,800
O 2x= 2,640
O =)l 2=z 220,000 123 2,640
O 2elE9| 91,413
O 2ZXH Ze|AIAE SN SXIZ==H]
21,938,000 *12% 2,633
O NAEEFHE JIS2LAIAH(#HEL)
A2 151,250,000 *0.64% 968




2A:

Ei=pl=n;

A TIIBe &S}
ce: MAHA ozt &3 (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
O I EEE DS AI A (QIE e
N 103, 125,000 *0.83% 856
O PCEOHFSrY Ze|AAE SN2
49,200,000 *x12% 5,904
O PCE MeIEE BSAIAE X B4
48,510,000 x12% 5,822
O BEZMO AIAE SXE2H]
57,407,300 *12% 6,889
O SStAH AlAE SX24=H|
244,850,000 *P% 22,037
O 2HIY AI2IASH RXE4=H|
68,000,000 *10. 3% 7,004
O ZHI0IX RAIZ==H|
393,000,000 *10% 39,300
O Tard sRAfM ZYE4R
160,000,0002%0.01 1,600
[0 MAA SO0 REE HIIRR AAE
1= 250,000&+8H*13] 2,000
02 S32ZH| 247,511 158,633 83,878
(] =222 2 HAl 170,160
O HZ2HAIX MBIA AFEE
6,000,000 =122 72,000
O 22t AH olE=
7,500,000 x12& 90,000
O &AA 3 ZAIMBIA AIES
180,000& x 128 2,160
O ZHIOIX alHEol & SHIel MElA Al
=33 500,000& *12& 6,000
O AE&H|IS X 77,351
O &AHA HHIS K|
7,000,000 14 7,000
O DNSMH & Zot&EH| RAIES
322,961,360=%13/100 41,985
O GA39AAE X2 4|
48,121,0002+8/100 3,850
O EAUXCHESIHEIAIAE 2829 X2
%= 450,000 x4 & 1,800
O EAUXHESIHEIAIAE L2 SN2
= 44 550,000& *8% 3,564
O M EZHHAAE SXI2eld]
46,800,0002+8/100 3,744
O BOoHSBAIAE X2l
48,850,000 +8/100 3,908
O L==&H] 2401 ¥ xelsH
200,000 *45CH 9,000
O At PCELHD| &l IZZCH
50,000& *50CH 2,500
202 04| 10,360 11,560 A1,200




2A:

Ei=pl=n;

33 lete u&E3st
el AEE olEel kst (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 10,360 11,560 1,200
O NSESs 24|12 218
80,0002 x5 5 2,000
O NSEDs) Al DS
80,0002 x4 H 6! 1,920
0 SHsS datdHl 23
20,0003 38 *30& 1,800
O W EE HMelat) 33
80,0002 x3H 8! 1,920
O Mat2el & JHRIEEES u=
80,0002 x2H 7 1,120
O ZEAAE20F A3
80,0003 x4 H+52 1,600
206 M=l 9,000 22,000 A13,000
01 MZH| 9,000 22,000 213,000
[ 2ot UsB+e 100,000 *30H 3,000
O d8gHd] 23 FL(MsH S)
1,500,0002 432 6,000
207 AR 276,960 491,246 A214,286
01 H7ESHI 90,000 9,000 81,000
O S300Ie #=3 =a
60,000,000 * 14 60,000
O S350l =4 30,000,000 *14] 30,000
02 MAHHEH] 186,960 482,246 A295,286
O NsE XS 33 SoAIAE(APT) 7=
68,000,000 * 14! 68,000
[ SoHAIOIE XtE AIAE 2=
105,000,000 * 14| 105,000
0 Z=230t2 SH0IX 2EH=29 22
3,980,000 24! 7,960
O Al SHIOIX & E2d AS03 Al
6,000,000 * 14 6,000
401 AIEHIZ SR 0HYI 160,000 160,000
01 Al&H| 160,000 160,000
[ ®AA D8 PEAY
160,000,000 *14] 160,000
405 AHatE = 130,000 130,000
01 ML ESFSHI 130,000 130,000
O Matad MAAIE W 130,000
O g=gs)l 37,500, 0002 =2CH 75,000
O REUHEJEXI(UPS)
27,500, 0002 =2CH 55,000
Hol JIEE SAH 2d 536,439 1,012,882 A476,443
= 51,112
Al 485,327
e SANE dat 235 51,920 51,920 0




2A B0
FH: |TIIE &3t
ciol: 58Xl J|=2 =) el (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 48,400 48,400
01 At2teltl 48,400 48,400
0 Let+=EH| 47,600
O SAHgE g2t 72,0002 100 7,200
O g2s+d N 17,0003 %1,700% 28,900
O SHZEAES 7Y
10,0002 *60IH*22] 1,200
O SHEZAZ DA &2t
40,000 *120% 4,800
O SHZAL 82 &% W&
110,000 *50H 5,500
U =& 800
O & SHZAL L EA
8,000 x2& *503] 800
202 04dl 1,920 1,920
01 2L AL 1,920 1,920
O MBI AR SHER H& &2 WS
80,0003 x2& 32 +23] 960
O M SHER A& & u=s
80,0002 x2& 32 x22] 960
301 LEtE NS 1,600 1,600
11 dALEBIXNIZE S 1,600 1,600
[ SHZA ZAIR DS ZAT 2AHZ
4,0002 x202 *202] 1,600
A M EAHEZE) 54,691 48,310 6,381
== 16,408
Al 38,283
101 eI24d| 16,175 14,693 1,482
[ 4,853
Al 11,322
M ORIMZZ2NSE S 16,175 14,693 1,482
O AFSHIZAL Q12 14,539,000 * 14| 14,539
= 4,362
Al 10,177
O MEHZEA A2
1,636,000& *14] 1,636
s 491
Al 1,145
201 Ler23 | 38,516 33,617 4,899
S 11,555
Al 26,961
01 At2teltl 38,516 33,617 4,899
AR ZEAL 2 38,516,000 » 14 38,516
= 11,555
Al 26,961




SN 2|
33 |TIee u&E3t
el 28X0l JIE2 SH 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A= L 2AA AISIEAHEE) 49,575 46,964 2,611
= 34,704
Al 14,871
101 @12A4H| 12,088 1,793 2%
= 8,463
Al 3,625
04 JIZtNZ22 XS 2+ 12,088 1,793 295
O ZA=E U AFAI ABIZA 22T 22
e 11,765,000 * 14! 11,765
== 8,236
Al 3,529
O ZAST 2 AMA ABIZA 40 282
323,000 *14] 323
= 227
Al %6
201 fer= 3| 37,487 35,171 2,316
s 26,241
Al 11,246
01 At22t2l] 36,816 34,500 2,316
O ZE=E & A AR ZAL 89
24,138,000 * 14| 24,138
& 16,897
Al 7,241
0 ESXAE WSt 1,728,0002 %14 1,728
= 1,209
Al 519
0 AR EES 630,000& *14] 630
S 441
Al 189
0228 A28 7
10,0002 %1,0329+= 10,320
= 7,224
Al 3,09
02 S3=gHl 671 671 0
033222 2 HMA 671
O AL2IZAF EX QHUZ 2S5
6502 *1,0329t 671
S 470
Al 201
JIES2el 227,694 248,420 N20,726
201 er23| 79,114 16,740 63,374
01 AtR2t2|HI 57,342 15,740 41,602
0 &Bt=EH| 26,800
O JIs& 29 10,400




SA Z201&8 0
FH: |TIIE &3t
thelr 2880l IS8 S 22l (SH9 H2)
~ _ q 4
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
g2 ~= 1,800,000 *34] 5,400
HOItHY JIS= DhAdl
3,500,000 14| 3,500
s AREE & WSuiiH|
1,500,000 14| 1,500
O JI=2 Ho| N Zees42
140,000,000 %0.01 1,400
O HEJISCIAIAE WAl 20l A 204
15,000,000 *14] 15,000
0 A=yl 500
O JIES2el uF SA=E
500,000& %12 500
U 2g=< 3,120
O H=23My2s &=
70,0002 x4 +23] 560
O JISE8Its & E
70,0002 x2H #4353 560
O ZZE BRI ALY
250,000 8«13 2,000
0 Sgl 3,520
O Jlg=adcl gf=d
8,0003 x4 »110! 3,520
O 2SS 23,402
O BEBJIS2eIAAE SMWRXIZ4 23,402
HEJIS2CIAAE SN 22b]
12,212,000& * 14! 12,212
HEIIS2LINAY SN SXE=
93,250,000& *12/100 11,190
2 55234l 21,772 0 21,772
O AME&BI= AL 21,772
O BE=JIS22AAE A8 & AECIX
=Al2 272,145,000& +8/100 21,772
202 048l 4,080 4,080
01 SLHo4HI 4,080 4,080
O oIss ol2&5g
80,0002 x2&H x4 L +23] 1,280
O IISs= 22 us
80,0002 2 *x32 x32| 1,440
O SUeAIAE DS
80,0002 x2EH *x2 2 +33] 960
O s¢s JIE=2d N=E84
20,0003 x4+ 400
206 M=l 4,500 3,600 900
01 MZH| 4,500 3,600 900
O0I=2 82, 452AH 72
1,500,000 <34 4,500
207 ARl 140,000 70,000 70,000




2A:

HEI1=
& |TOI18e] &3t
el 28X0l JIE2 SH 2 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
02 HAPH | 140,000 0 140,000
O JI22 EQRIIZS He
140,000,000 14! 140,000
HEFES ALY 152,559 617,268 A464,709
201 Lt | 29,441 50,979 A21,538
2 SE=29| 29,441 50,979 A21,538
[ AE&HIS bl 29,441
O SEAELX KA
215,269,500 +8/100 17,222
O AP ZEH| 7Ryl
62,809,000 *8/100 5,025
O HASW BXl2eld]
59,950,000& %12/100 7,1%
308 AXIEHMSOIN 123,118 114,412 8,706
13 SI|2ASHICHEH B AR L EFALH] 123,118 114,412 8,706
O S2Liet 2MAIAE SXI2el
32,473,000 * 14! 32,473
O 2SI & Mo STPAIAE KX l2ta
83,695,000 & 14! 83,695
O NSBYDEALL SEHUE 29
6,950,000& * 14! 6,950
HESAl olZe} gt A3,641 921,357 22,284
= 6,113
Al 937,528
FESMY 2 923,264 900,980 22,284
201 Let2| 742,964 694,580 48,384
01 AtR2telt] 15,680 15,680 0
[ Le=ZH| 10,000
O HEMIPHSE 7Ol
2,000,000 *23| 4,000
O SM4 BA 14 g
300,000& *3CH*43] 3,600
O wets T2y EY 2
300,000& *2CH*43] 2,400
] fIEW=H| 1,280
O ZESH /AEHE WS
320,000 421 1,280
O =] 4,400
O St2g geFd
8,000& x5 x110 4,400
02 S=29| 727,284 678,900 48,384
O 3322 2 HAl 54,984
O LLtN3E AAZZ
50,0003 502 &+ 123 30,000
O NME3H AE=
25,4002 *1008| &+ 12 30,480




2A: Z3EI20
HzH: |TI|8tel N3}
ool HPSA me B4 (cre): 2ig
SA - B S (3H) - MISAY - B2 ofl aro G o HDE2
O Z2E25UE MEE
100,000 «3CH+ 12 3,600
O &AL Y AIEES
35,0003 #23| &« 128 840
O QIHUIA S AIES
500,000 128 6,000
O #dMS S35 0Is=
8,000,000& *12& 96,000
O dU OXE s ol2s
9,000 63 * 128 6,804
O SHS AIZgA HEEAY 082
360,0002*x31 0 A~ x 12 133,920
O HIZE AIZ= 1,800,000& 128 21,600
O 200l ABR(HW)
715,000& +12& 8,580
O Z2ZZ210|0H0| At=22(2LH)
38,0002 x210CH* 12& 95,760
O WERIHE AlE2E
1,450,000& 128 17,400
O EHOIXE AtEE
2,000,000 128 24,000
O ADIE DIS2X Y5 MEs
10,000,000 x 12& 120,000
[ A2 &BISXIH] 132,300
O N EAY S 2H2H(SEHS, A
) 70,0002 #4604 A+ 122 38,640
O We| X2y
139,000,000 *7/100 9,730
O 23 dy¥SAY X 22|
396,000,000 %7/100 27,720
O S8s A MJ_AEX SKA22ld]
65,000,0002!%7/100 4,550
O 23 9EEH € 39a A2l
260,000,000 +7/100 18,200
O E4MA 213 |22l
36,000,000 +7/100 2,520
O HBESAIY Bot&H| SX|22(d]
150,000,000 %x7/100 10,500
O SAYUSAIE X22ld]
30,000,000 %7/100 2,100
O MNEXBAI SEEH|I |X22/d]
20,000,000 +7/100 1,400
O IPHSIAIAE SX2A2IH(SHS, AFA)
210,000 #3400 2~ 7,140
O XA X2l
60,000,000 %7/100 4. 200
O SE=FANH X2l
20,000,000 +7/100 1,400




2A:
X XH -
o e

=aak

e=L=pI T
IT218He] N&E3t
HES o

(s

SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEECEECETIEREET]
60,000,000& *7/100 4,200
202 04dl 8,000 8,000
01 2L AL 8,000 8,000
0 SaAIE 2 H8l ZO0H=X
20,0003 #4021 %252 2,000
O ZE2Sd AEE AR 2L
20,0003 x31 %642 3,840
O 288 s us
80,0003 #3021 +22 *43 1,920
O 28 ALY HEXE
20,000 x11x 12 240
206 M=H| 11,400 11,400
01 MHZH| 11,400 11,400
O g&ss4 2218 A28 7
200,000 * 185 3,600
O oHUSA HolE & 85 A 2
200,000+ 115 2,200
O Mgt 224 255 7
200,0002+75 1,400
0 gs8 225 72 200,000& =154 3,000
0 f4d0t012 A&X
4,000 2500 * 122 1,200
405 AtatsE = 160,900 187,000 N26,100
01 ML ESFSHI 160,900 187,000 A26,100
[ S8 UERZ AKX Ul uX
4,100,000 11CH 45,100
O SAEH SEAAAZXI(UPS) LA
3,000,000 *12CH 36,000
O Sud g2es)] wHl
70,000,000 *14] 70,000
0 POE 12+ 1,400,000 +7CH 9,800
HA SS2A0IM0l X2 AFF(EX) 20,377 20,377 0
< 6,113
Al 14,264
201 Eer23 | 20,377 20,377 0
= 6,113
Al 14,264
2 s5=34l 20,377 20,377 0
0 HASZ 200 SRS AL
20,377,000& x14] 20,377
= 6,113
Al 14,264
=sA0lchotsrat 24 4,782,200 4,514,162 268,038
N 1,407,000
Al 3,375,200




2A:

Ei=pl=n;

33 |Iete u&3t
Cel: sMdftste 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BlLE =& 2t XIR(2X) 2,814,000 2,587,000 227,000
N 1,407,000
Al 1,407,000
402 212+ X+=01 & 2,814,000 2,587,000 227,000
N 1,407,000
Al 1,407,000
03 2IZ+LAETAIZHI 2,814,000 2,587,000 227,000
O BILME st 2H (P =20l ustat) A
= 2,814,000,000& *14] 2,814,000
N 1,407,000
Al 1,407,000
sM0chust2 28 2435 1,615,200 1,354,162 261,038
101 @124H| 34,256 33,418 838
M ORNZZE2NSES 34,256 33,418 838
O dtst2t JI2tH22 4 24 34,256
O Jlzs 78,8803 x 1 *261& 20,588
O =5+ 78,8803 18 x52 4,102
O 7g=¢ 118,320 x1H 42« 12E 5,680
O dxt=g 78,8803 x1& * 152 1,184
O =28z R8=
31,562,000& *4.5/100 1,420
O d3=28=z FE=
31,552,000 #3.60/100 1,136
O LBz RE=
1,136,000& +12.81/100 146
201 er=23| 193,844 162,644 31,200
01 AtR2te|Hl 26,800 26,800 0
0 eS| 20,160
O S23X M= 10,0002 *300 3,000
O 2=ZclEx A 2042 %10,000% 2,040
O st 28 23
300,000 x65+23] 3,600
O dgMness ¢
100,000 x105+23] 2,000
O u=tat 282 49 M
110,000& x105+22] 2,200
O dtstat 0|82 2N ++2
2,500 +80,0002*3/100 6,000
O st M2 A= 120,0002+35 360
O FiRtd=s =58
16,0003 55+ 128 960
U 2g+¢ 840
O dHEIIRIAe B4+
70,0002 x3H x4 840
0 S&gl 3,520




2A:

Ei=pl=n;

33 |Iete u&3t
Sl =sM0lfust2 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O =803 g2 =2
8,0003 x4 »110! 3,520
0 iz 2,280
O =8l dxz 190,000& 122 2,280
2 S52g4l 167,044 135,844 31,200
O 3222 £ HMA 142,044
O BA JIIE S 11,000,002 122 132,000
O 228 2% 2=
2,530 %11021+53] 1,392
O eYsldAEs, St=
209,000 * 122 2,508
O &, ol= AEZ 300,000& 122 3,600
O ZADIA AL EE 187,000& * 122 2,244
O sr=sr2Es Hal
300,000& %12 300
O Al &HIs Xl 25,000
O HAIEHl & |Al&el
500,000& 505 25,000
202 04t 6,080 6,080
01 =LHOHI 6,080 6,080
0 Bateg 2402 218
80,0002 x4 H 7 2,240
O st 22 € Iz =8
20,0002 4% +202! 1,600
0 D21y 2% DS
80,0002 x4H+7 2,240
206 MH=H| 35,900 35,900
01 M=4l 35,900 356,900
O sty AN 2L
300,000 205 6,000
O g&a X 7 402 +5,0000H* 123 2,400
O g&d &5 2
1003+5,00001* 12 6,000
O d2d8AI2 225 7Y
500,000& * 157K 7,500
O fetadd g 2
200,000& x702] 14,000
301 LENZ 2,240 2,240
11 dAMEEIXIE S 2,240 2,240
O NHASAL S4HS
8,000 x4 +703] 2,240
307 @20l & 1,140,000 1,035,000 105,000
05 git?(& = 1,140,000 1,035,000 105,000
U Ald =gl 1,140,000,000& *14] 1,140,000
401 Al BIXL S THYI 50,000 18,000 32,000
01 Al&H| 50,000 18,000 32,000




2A:

Ei=pl=n;

33 |Iete u&3t
Cel: sMdftste 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O nt&tat JIBHAIE WA(S201, diaZeol
&) 50,000,000& » 14 50,000
405 KHoHFSHI 152,880 60,880 92,000
01 ML ESFSHI 150,000 58,000 92,000
O HESY4 26x 79
25,000,000& »24! 50,000
O stk JIBAIE nH(WESIIEH], &
AAE S) 100,000,000 * 14| 100,000
02 A+l 2,880 2,880 0
O WsteN 7 12,0002 205122 2,880
Zo|tst ORI =it 140,000 140,000 0
201 er2 3| 140,000 95,060 44,940
03 &A= I 140,000 95,060 44,940
O FinstZzz0d =29
55,000,000& »14! 55,000
O edostZz20y 29
30,000,000 * 14 30,000
O etdg=zz0d 29
15,000,000 * 14 15,000
O atstoptoiol 24 40,000,000& *14] 40,000
SetatalltstE 7 MBOIE S 100,000 200,000 100,000
201 2= 100,000 200,000 100,000
03 A2 I 100,000 200,000 100,000
O el &= PetaarsteE - ABolE
& 100,000,000 *14] 100,000
Fetaaa 29 113,000 113,000
201 et23| 113,000 113,000
01 AtR2telHl 3,000 3,000
O Fetdddd ERES 78
10,0002 *300H 3,000
03 A2 I 110,000 110,000 0
O st g7 - A8d Retadd 29
110,000,000 * 14! 110,000
SS2HHE 2 3,046,6% 2,218,900 827,796
CTV SE2MAEH =29 3,046,6% 2,164,460 882,236
201 er23| 1,876,096 1,675,460 200,636
01 At2teltl 124,000 20,820 103,180
0 get+=EH 12,380
O CVSeZMHEH 82= M
400,000 22 800
O CVSeZMdE EH 7
340,000 x3CH*43 4,080
O CCIVSEZHAH 228 7Y
150,000 x 17523 5,100
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Ei=pl=n;

Az |TI|etel DNESH
ool SSEHME 22 (crel: g)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
O 2H2 2Ra8s Rel
20,0002 x50 % 13| 1,000
O N M=eis S =227
50,0008 x28H 1,400
[ 2494 1,120
O (CIVSEZMIHE S2H/A/S S5
70,000& x4 H 43| 1,120
] o=y 1,400
O ZHeA I=H| 50,0002 x28H 1,400
O =S| 3,520
O SEZHAHE HR2FX
8,000 & x4 x 110 3,520
[ ex= 2,400
O CCVSE2HINEHE S8 Xt
50,000 *x2CH 122 1,200
O CCIVEEH2HIME BD| dx=
50,0003 *x2CH*12& 1,200
[ 22|29 103, 180
O SE2MEE CCTV M AIAE S|
50,000,000 x 14! 50,000
O SEZHAE ANE2H AIAE X2
2yl 30,000,000 14! 30,000
O SeH2HME Set2elZ2 03 (tcos) &
R sl 5,300,000& * 1A 5,300
O SE2HEE oIS E AIAE KX
2t2ldl 15,000,000 * 14! 15,000
O SEZHAE 22 E2 08 SXA2
2yl 480,000& * 14! 480
O AT Al SAI=ZAF R018H| 9
200,000+ 12& 2,400
02 S324H| 1,752,096 1,654,640 97,456
[0 222= 2 MAl 1,218,480
O ccv &oIe2 14,500,000 * 12& 174,000
O CCTV M3 AIEE
70,0002 %1,1933| & x12& 1,002,120
O CCTV QYIS (SEEHE) AE2
860,000 12& 10,320
O SHAIEAl ADEZAI(UCITY) SIMAIZZ
2,670,000& 12 32,040
[ A2 &H| 2Al8] 533,616
O CTV(2He, ORI0I2E, OISES) |A
2l bl 5,050,000,000& %5/100 252,500
O SEHEHHEE AIAE(H/W) SX22id]
1,062, 115,460 *10/100 106,212
O ADIEAIE| SEEHE RX22IH]
776,184,190 %13/100 100,904
O SE2HEE X220
30,000,000 & = 1A 30,000
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33 TIete u&3st
el SE2MAE 2l (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SR EE I ENEET]
20,000,000& » 14 20,000
O IS4y EHl RAI2=4]
20,000,000& * 14! 20,000
O ZHHIdE S A
4,000,000 * 14 4,000
202 04l 8,000 8,000
01 2LHoIH 8,000 8,000
0 288 IV £XIMY =8
20,0002 x4 +35& 2,800
O oCTvate QIR =&
20,0003 x4 25 2,000
O 2HAEH 5=Al - 2 XX A&
80,0002 x4 «3 960
O 2HeaAst 80,0003 x282+13] 2,240
206 MH=H| 1,000 1,000
01 M=4l 1,000 1,000
O v €X1s A+
1,000,000 *14] 1,000
207 AR 16,000 16,000
02 MAHHZHI 16,000 16,000
O Sg2el=Z2 28(T00s) elols
16,000,000 * 14| 16,000
401 AIZHIZ SO 420,000 430,000 10,000
01 Al&H| 420,000 430,000 10,000
HEOHM CCTV £X 400,000,000 *14] 400,000
O oA 4= 2|8t LB #AE £X
20,000,000& *14! 20,000
405 KHakE SH 725,600 50,000 675,600
01 Tt =S F = 725,600 50,000 675,600
O ADEZRAIAE 2AMH & etoldA
¢ 720,000,000& *14] 720,000
O S82el=Z=2 8(T00S) MHSHEAN 2
5,600,000 14] 5,600
HY2EGHI(ZEI&m) 1,797,962 1,831,890 A\33,928
el 2| 1,792,562 1,826,490 A33,928
I 2HHI(FEI1& M) 1,792,562 1,826,490 A33,928
101 @124H| 1,665,230 1,695,660 230,430
01 &2 150,372 147,852 2,520
O =22+g 150,372
O AlteI2Rs4
12,5312 x202+50A| 2+ 123 150,372
02 JIEtA == 22,556 14,786 7,770
O =22+ 22,556
O AlHAZ2+E
12,5312 +3Z#50A1 2k 123 22,55
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M HZYRAZH(FLIIEL)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 SR (RINAHA) 222+ 1,492,302 1,633,022 A40,720
O SS2HAE 224 22Y 1,401,133
O Jlzs 2,053,720 x28H*12& 690,050
O ZHsAl 140,000 x28E « 122 47,040
O =g 40,0002 x28H « 12 13,440
O &0i301Y+E 43, HEFOH| 23])
2,183, 72021 %28 520% 317,950
O gYResy
105, 28021428 42 * 10 168,377
O oRtRssy
5,2203x28H+65A| 2t 12 114,005
O ¢xt==g 85, 1203 x28H « 15 35,751
O JIExE 14,520
IS (B2
40,0002 152+ 128 7,200
=LY OIEDIE)
20,000 8 * 122 1,920
HE=S (M) 30,0002 x2& * 12 720
HE=E(EM) 70,0002 x4 122 3,360
- HE=Z(MIROIZ)
10,0002 x124 128 1,320
0 2HR8 S4AL2E|
50,0003 x28H 1,400
O dstuetd 224 92 89,769
O Jlzs 2,096,510 2H 122 50,317
O EHZAHI 140,000& x2&~ 123 3,360
O ARL2xH| 30,000 =2 * 122 720
O &0301YE 43, HEFOHI 23])
2,226,510 x2Z +520f% 23,156
O zl=2=2=H
16,2002 x2S *20A1 2t 122 7,776
O 728 129,560 5 648
O ext==g 86,3702 2 x15& 2,592
O JE+E 1,200
IS (B2
40,0003 ~1 122 480
- IESE(EM) 60,0002 x 1 * 122 720
04 HSRESS 127,332 130,830 A3,498
04 R (RIHA)22N BEESRES S 127,332 130,830 A\3,498
[ SRAZZX HSFES 66,929
O St
1,397,773,000& *4.5/100 62,900
O dztueta 89,529, 000& *4.5/100 4,029
O SRA2IZN L2 53,544
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